
Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 1 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 162

1. 65

2. 42

3. 153

4. 48

5. 70

6. 153

7. 72

8. 54

9. 65

10. 84

Usa la proprietà distributiva per risolvere ogni problema.

Es) 9 × 18 = (9 × 8) + ( 9 × 10 )
=

16272 + 90

1) 13 × 5 = (8 × 5) + ( 5 × 5 )
=

6540 + 25

2) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

3) 17 × 9 = (8 × 9) + ( 9 × 9 )
=

15372 + 81

4) 16 × 3 = (9 × 3) + ( 7 × 3 )
=

4827 + 21

5) 5 × 14 = (5 × 8) + ( 5 × 6 )
=

7040 + 30

6) 9 × 17 = (9 × 7) + ( 9 × 10 )
=

15363 + 90

7) 4 × 18 = (4 × 9) + ( 4 × 9 )
=

7236 + 36

8) 18 × 3 = (9 × 3) + ( 9 × 3 )
=

5427 + 27

9) 13 × 5 = (8 × 5) + ( 5 × 5 )
=

6540 + 25

10) 6 × 14 = (6 × 4) + ( 6 × 10 )
=

8424 + 60



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 1

Risposte

Es. 162

1. 65

2. 42

3. 153

4. 48

5. 70

6. 153

7. 72

8. 54

9. 65

10. 84

Usa la proprietà distributiva per risolvere ogni problema.

Es) 9 × 18 = (9 × 8) + ( 9 × 10 )
=

16272 + 90

1) 13 × 5 = (8 × 5) + ( 5 × 5 )
=

6540 + 25

2) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

3) 17 × 9 = (8 × 9) + ( 9 × 9 )
=

15372 + 81

4) 16 × 3 = (9 × 3) + ( 7 × 3 )
=

4827 + 21

5) 5 × 14 = (5 × 8) + ( 5 × 6 )
=

7040 + 30

6) 9 × 17 = (9 × 7) + ( 9 × 10 )
=

15363 + 90

7) 4 × 18 = (4 × 9) + ( 4 × 9 )
=

7236 + 36

8) 18 × 3 = (9 × 3) + ( 9 × 3 )
=

5427 + 27

9) 13 × 5 = (8 × 5) + ( 5 × 5 )
=

6540 + 25

10) 6 × 14 = (6 × 4) + ( 6 × 10 )
=

8424 + 60

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 2 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 135

1. 42

2. 51

3. 85

4. 70

5. 105

6. 64

7. 112

8. 128

9. 72

10. 48

Usa la proprietà distributiva per risolvere ogni problema.

Es) 9 × 15 = (9 × 6) + ( 9 × 9 )
=

13554 + 81

1) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

2) 17 × 3 = (9 × 3) + ( 8 × 3 )
=

5127 + 24

3) 5 × 17 = (5 × 9) + ( 5 × 8 )
=

8545 + 40

4) 5 × 14 = (5 × 4) + ( 5 × 10 )
=

7020 + 50

5) 7 × 15 = (7 × 7) + ( 7 × 8 )
=

10549 + 56

6) 4 × 16 = (4 × 8) + ( 4 × 8 )
=

6432 + 32

7) 16 × 7 = (8 × 7) + ( 8 × 7 )
=

11256 + 56

8) 16 × 8 = (8 × 8) + ( 8 × 8 )
=

12864 + 64

9) 6 × 12 = (6 × 4) + ( 6 × 8 )
=

7224 + 48

10) 3 × 16 = (3 × 9) + ( 3 × 7 )
=

4827 + 21



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 2

Risposte

Es. 135

1. 42

2. 51

3. 85

4. 70

5. 105

6. 64

7. 112

8. 128

9. 72

10. 48

Usa la proprietà distributiva per risolvere ogni problema.

Es) 9 × 15 = (9 × 6) + ( 9 × 9 )
=

13554 + 81

1) 14 × 3 = (7 × 3) + ( 7 × 3 )
=

4221 + 21

2) 17 × 3 = (9 × 3) + ( 8 × 3 )
=

5127 + 24

3) 5 × 17 = (5 × 9) + ( 5 × 8 )
=

8545 + 40

4) 5 × 14 = (5 × 4) + ( 5 × 10 )
=

7020 + 50

5) 7 × 15 = (7 × 7) + ( 7 × 8 )
=

10549 + 56

6) 4 × 16 = (4 × 8) + ( 4 × 8 )
=

6432 + 32

7) 16 × 7 = (8 × 7) + ( 8 × 7 )
=

11256 + 56

8) 16 × 8 = (8 × 8) + ( 8 × 8 )
=

12864 + 64

9) 6 × 12 = (6 × 4) + ( 6 × 8 )
=

7224 + 48

10) 3 × 16 = (3 × 9) + ( 3 × 7 )
=

4827 + 21

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 3 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 136

1. 56

2. 72

3. 64

4. 126

5. 64

6. 153

7. 48

8. 126

9. 90

10. 91

Usa la proprietà distributiva per risolvere ogni problema.

Es) 17 × 8 = (8 × 8) + ( 9 × 8 )
=

13664 + 72

1) 14 × 4 = (6 × 4) + ( 8 × 4 )
=

5624 + 32

2) 6 × 12 = (6 × 3) + ( 6 × 9 )
=

7218 + 54

3) 4 × 16 = (4 × 6) + ( 4 × 10 )
=

6424 + 40

4) 9 × 14 = (9 × 6) + ( 9 × 8 )
=

12654 + 72

5) 16 × 4 = (7 × 4) + ( 9 × 4 )
=

6428 + 36

6) 9 × 17 = (9 × 8) + ( 9 × 9 )
=

15372 + 81

7) 12 × 4 = (9 × 4) + ( 3 × 4 )
=

4836 + 12

8) 9 × 14 = (9 × 8) + ( 9 × 6 )
=

12672 + 54

9) 6 × 15 = (6 × 6) + ( 6 × 9 )
=

9036 + 54

10) 7 × 13 = (7 × 9) + ( 7 × 4 )
=

9163 + 28



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 3

Risposte

Es. 136

1. 56

2. 72

3. 64

4. 126

5. 64

6. 153

7. 48

8. 126

9. 90

10. 91

Usa la proprietà distributiva per risolvere ogni problema.

Es) 17 × 8 = (8 × 8) + ( 9 × 8 )
=

13664 + 72

1) 14 × 4 = (6 × 4) + ( 8 × 4 )
=

5624 + 32

2) 6 × 12 = (6 × 3) + ( 6 × 9 )
=

7218 + 54

3) 4 × 16 = (4 × 6) + ( 4 × 10 )
=

6424 + 40

4) 9 × 14 = (9 × 6) + ( 9 × 8 )
=

12654 + 72

5) 16 × 4 = (7 × 4) + ( 9 × 4 )
=

6428 + 36

6) 9 × 17 = (9 × 8) + ( 9 × 9 )
=

15372 + 81

7) 12 × 4 = (9 × 4) + ( 3 × 4 )
=

4836 + 12

8) 9 × 14 = (9 × 8) + ( 9 × 6 )
=

12672 + 54

9) 6 × 15 = (6 × 6) + ( 6 × 9 )
=

9036 + 54

10) 7 × 13 = (7 × 9) + ( 7 × 4 )
=

9163 + 28

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 4 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 45

1. 65

2. 90

3. 84

4. 136

5. 52

6. 75

7. 80

8. 144

9. 48

10. 84

Usa la proprietà distributiva per risolvere ogni problema.

Es) 15 × 3 = (9 × 3) + ( 6 × 3 )
=

4527 + 18

1) 13 × 5 = (4 × 5) + ( 9 × 5 )
=

6520 + 45

2) 5 × 18 = (5 × 8) + ( 5 × 10 )
=

9040 + 50

3) 7 × 12 = (7 × 6) + ( 7 × 6 )
=

8442 + 42

4) 8 × 17 = (8 × 7) + ( 8 × 10 )
=

13656 + 80

5) 4 × 13 = (4 × 9) + ( 4 × 4 )
=

5236 + 16

6) 5 × 15 = (5 × 8) + ( 5 × 7 )
=

7540 + 35

7) 5 × 16 = (5 × 7) + ( 5 × 9 )
=

8035 + 45

8) 16 × 9 = (9 × 9) + ( 7 × 9 )
=

14481 + 63

9) 16 × 3 = (6 × 3) + ( 10 × 3 )
=

4818 + 30

10) 7 × 12 = (7 × 7) + ( 7 × 5 )
=

8449 + 35



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 4

Risposte

Es. 45

1. 65

2. 90

3. 84

4. 136

5. 52

6. 75

7. 80

8. 144

9. 48

10. 84

Usa la proprietà distributiva per risolvere ogni problema.

Es) 15 × 3 = (9 × 3) + ( 6 × 3 )
=

4527 + 18

1) 13 × 5 = (4 × 5) + ( 9 × 5 )
=

6520 + 45

2) 5 × 18 = (5 × 8) + ( 5 × 10 )
=

9040 + 50

3) 7 × 12 = (7 × 6) + ( 7 × 6 )
=

8442 + 42

4) 8 × 17 = (8 × 7) + ( 8 × 10 )
=

13656 + 80

5) 4 × 13 = (4 × 9) + ( 4 × 4 )
=

5236 + 16

6) 5 × 15 = (5 × 8) + ( 5 × 7 )
=

7540 + 35

7) 5 × 16 = (5 × 7) + ( 5 × 9 )
=

8035 + 45

8) 16 × 9 = (9 × 9) + ( 7 × 9 )
=

14481 + 63

9) 16 × 3 = (6 × 3) + ( 10 × 3 )
=

4818 + 30

10) 7 × 12 = (7 × 7) + ( 7 × 5 )
=

8449 + 35

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 5 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 120

1. 153

2. 104

3. 48

4. 135

5. 60

6. 85

7. 78

8. 102

9. 98

10. 117

Usa la proprietà distributiva per risolvere ogni problema.

Es) 8 × 15 = (8 × 8) + ( 8 × 7 )
=

12064 + 56

1) 17 × 9 = (8 × 9) + ( 9 × 9 )
=

15372 + 81

2) 13 × 8 = (5 × 8) + ( 8 × 8 )
=

10440 + 64

3) 4 × 12 = (4 × 6) + ( 4 × 6 )
=

4824 + 24

4) 15 × 9 = (6 × 9) + ( 9 × 9 )
=

13554 + 81

5) 4 × 15 = (4 × 5) + ( 4 × 10 )
=

6020 + 40

6) 17 × 5 = (7 × 5) + ( 10 × 5 )
=

8535 + 50

7) 13 × 6 = (8 × 6) + ( 5 × 6 )
=

7848 + 30

8) 17 × 6 = (8 × 6) + ( 9 × 6 )
=

10248 + 54

9) 7 × 14 = (7 × 4) + ( 7 × 10 )
=

9828 + 70

10) 9 × 13 = (9 × 8) + ( 9 × 5 )
=

11772 + 45



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 5

Risposte

Es. 120

1. 153

2. 104

3. 48

4. 135

5. 60

6. 85

7. 78

8. 102

9. 98

10. 117

Usa la proprietà distributiva per risolvere ogni problema.

Es) 8 × 15 = (8 × 8) + ( 8 × 7 )
=

12064 + 56

1) 17 × 9 = (8 × 9) + ( 9 × 9 )
=

15372 + 81

2) 13 × 8 = (5 × 8) + ( 8 × 8 )
=

10440 + 64

3) 4 × 12 = (4 × 6) + ( 4 × 6 )
=

4824 + 24

4) 15 × 9 = (6 × 9) + ( 9 × 9 )
=

13554 + 81

5) 4 × 15 = (4 × 5) + ( 4 × 10 )
=

6020 + 40

6) 17 × 5 = (7 × 5) + ( 10 × 5 )
=

8535 + 50

7) 13 × 6 = (8 × 6) + ( 5 × 6 )
=

7848 + 30

8) 17 × 6 = (8 × 6) + ( 9 × 6 )
=

10248 + 54

9) 7 × 14 = (7 × 4) + ( 7 × 10 )
=

9828 + 70

10) 9 × 13 = (9 × 8) + ( 9 × 5 )
=

11772 + 45

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 6 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 51

1. 36

2. 126

3. 84

4. 51

5. 48

6. 135

7. 126

8. 112

9. 75

10. 39

Usa la proprietà distributiva per risolvere ogni problema.

Es) 3 × 17 = (3 × 7) + ( 3 × 10 )
=

5121 + 30

1) 3 × 12 = (3 × 2) + ( 3 × 10 )
=

366 + 30

2) 14 × 9 = (4 × 9) + ( 10 × 9 )
=

12636 + 90

3) 14 × 6 = (7 × 6) + ( 7 × 6 )
=

8442 + 42

4) 17 × 3 = (8 × 3) + ( 9 × 3 )
=

5124 + 27

5) 4 × 12 = (4 × 9) + ( 4 × 3 )
=

4836 + 12

6) 9 × 15 = (9 × 8) + ( 9 × 7 )
=

13572 + 63

7) 14 × 9 = (7 × 9) + ( 7 × 9 )
=

12663 + 63

8) 8 × 14 = (8 × 7) + ( 8 × 7 )
=

11256 + 56

9) 15 × 5 = (6 × 5) + ( 9 × 5 )
=

7530 + 45

10) 13 × 3 = (8 × 3) + ( 5 × 3 )
=

3924 + 15



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 6

Risposte

Es. 51

1. 36

2. 126

3. 84

4. 51

5. 48

6. 135

7. 126

8. 112

9. 75

10. 39

Usa la proprietà distributiva per risolvere ogni problema.

Es) 3 × 17 = (3 × 7) + ( 3 × 10 )
=

5121 + 30

1) 3 × 12 = (3 × 2) + ( 3 × 10 )
=

366 + 30

2) 14 × 9 = (4 × 9) + ( 10 × 9 )
=

12636 + 90

3) 14 × 6 = (7 × 6) + ( 7 × 6 )
=

8442 + 42

4) 17 × 3 = (8 × 3) + ( 9 × 3 )
=

5124 + 27

5) 4 × 12 = (4 × 9) + ( 4 × 3 )
=

4836 + 12

6) 9 × 15 = (9 × 8) + ( 9 × 7 )
=

13572 + 63

7) 14 × 9 = (7 × 9) + ( 7 × 9 )
=

12663 + 63

8) 8 × 14 = (8 × 7) + ( 8 × 7 )
=

11256 + 56

9) 15 × 5 = (6 × 5) + ( 9 × 5 )
=

7530 + 45

10) 13 × 3 = (8 × 3) + ( 5 × 3 )
=

3924 + 15

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 7 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 56

1. 108

2. 48

3. 108

4. 56

5. 78

6. 162

7. 105

8. 60

9. 84

10. 102

Usa la proprietà distributiva per risolvere ogni problema.

Es) 14 × 4 = (5 × 4) + ( 9 × 4 )
=

5620 + 36

1) 6 × 18 = (6 × 9) + ( 6 × 9 )
=

10854 + 54

2) 3 × 16 = (3 × 6) + ( 3 × 10 )
=

4818 + 30

3) 18 × 6 = (8 × 6) + ( 10 × 6 )
=

10848 + 60

4) 14 × 4 = (7 × 4) + ( 7 × 4 )
=

5628 + 28

5) 13 × 6 = (9 × 6) + ( 4 × 6 )
=

7854 + 24

6) 9 × 18 = (9 × 9) + ( 9 × 9 )
=

16281 + 81

7) 7 × 15 = (7 × 7) + ( 7 × 8 )
=

10549 + 56

8) 5 × 12 = (5 × 7) + ( 5 × 5 )
=

6035 + 25

9) 14 × 6 = (6 × 6) + ( 8 × 6 )
=

8436 + 48

10) 6 × 17 = (6 × 9) + ( 6 × 8 )
=

10254 + 48



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 7

Risposte

Es. 56

1. 108

2. 48

3. 108

4. 56

5. 78

6. 162

7. 105

8. 60

9. 84

10. 102

Usa la proprietà distributiva per risolvere ogni problema.

Es) 14 × 4 = (5 × 4) + ( 9 × 4 )
=

5620 + 36

1) 6 × 18 = (6 × 9) + ( 6 × 9 )
=

10854 + 54

2) 3 × 16 = (3 × 6) + ( 3 × 10 )
=

4818 + 30

3) 18 × 6 = (8 × 6) + ( 10 × 6 )
=

10848 + 60

4) 14 × 4 = (7 × 4) + ( 7 × 4 )
=

5628 + 28

5) 13 × 6 = (9 × 6) + ( 4 × 6 )
=

7854 + 24

6) 9 × 18 = (9 × 9) + ( 9 × 9 )
=

16281 + 81

7) 7 × 15 = (7 × 7) + ( 7 × 8 )
=

10549 + 56

8) 5 × 12 = (5 × 7) + ( 5 × 5 )
=

6035 + 25

9) 14 × 6 = (6 × 6) + ( 8 × 6 )
=

8436 + 48

10) 6 × 17 = (6 × 9) + ( 6 × 8 )
=

10254 + 48

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 8 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 90

1. 84

2. 119

3. 126

4. 84

5. 85

6. 42

7. 104

8. 117

9. 90

10. 72

Usa la proprietà distributiva per risolvere ogni problema.

Es) 6 × 15 = (6 × 6) + ( 6 × 9 )
=

9036 + 54

1) 14 × 6 = (9 × 6) + ( 5 × 6 )
=

8454 + 30

2) 7 × 17 = (7 × 7) + ( 7 × 10 )
=

11949 + 70

3) 7 × 18 = (7 × 8) + ( 7 × 10 )
=

12656 + 70

4) 6 × 14 = (6 × 6) + ( 6 × 8 )
=

8436 + 48

5) 17 × 5 = (7 × 5) + ( 10 × 5 )
=

8535 + 50

6) 14 × 3 = (4 × 3) + ( 10 × 3 )
=

4212 + 30

7) 8 × 13 = (8 × 5) + ( 8 × 8 )
=

10440 + 64

8) 9 × 13 = (9 × 8) + ( 9 × 5 )
=

11772 + 45

9) 18 × 5 = (8 × 5) + ( 10 × 5 )
=

9040 + 50

10) 18 × 4 = (9 × 4) + ( 9 × 4 )
=

7236 + 36



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 8

Risposte

Es. 90

1. 84

2. 119

3. 126

4. 84

5. 85

6. 42

7. 104

8. 117

9. 90

10. 72

Usa la proprietà distributiva per risolvere ogni problema.

Es) 6 × 15 = (6 × 6) + ( 6 × 9 )
=

9036 + 54

1) 14 × 6 = (9 × 6) + ( 5 × 6 )
=

8454 + 30

2) 7 × 17 = (7 × 7) + ( 7 × 10 )
=

11949 + 70

3) 7 × 18 = (7 × 8) + ( 7 × 10 )
=

12656 + 70

4) 6 × 14 = (6 × 6) + ( 6 × 8 )
=

8436 + 48

5) 17 × 5 = (7 × 5) + ( 10 × 5 )
=

8535 + 50

6) 14 × 3 = (4 × 3) + ( 10 × 3 )
=

4212 + 30

7) 8 × 13 = (8 × 5) + ( 8 × 8 )
=

10440 + 64

8) 9 × 13 = (9 × 8) + ( 9 × 5 )
=

11772 + 45

9) 18 × 5 = (8 × 5) + ( 10 × 5 )
=

9040 + 50

10) 18 × 4 = (9 × 4) + ( 9 × 4 )
=

7236 + 36

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 9 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 56

1. 117

2. 78

3. 105

4. 52

5. 112

6. 65

7. 112

8. 90

9. 126

10. 108

Usa la proprietà distributiva per risolvere ogni problema.

Es) 4 × 14 = (4 × 9) + ( 4 × 5 )
=

5636 + 20

1) 13 × 9 = (4 × 9) + ( 9 × 9 )
=

11736 + 81

2) 6 × 13 = (6 × 8) + ( 6 × 5 )
=

7848 + 30

3) 7 × 15 = (7 × 5) + ( 7 × 10 )
=

10535 + 70

4) 13 × 4 = (3 × 4) + ( 10 × 4 )
=

5212 + 40

5) 7 × 16 = (7 × 6) + ( 7 × 10 )
=

11242 + 70

6) 13 × 5 = (6 × 5) + ( 7 × 5 )
=

6530 + 35

7) 16 × 7 = (6 × 7) + ( 10 × 7 )
=

11242 + 70

8) 18 × 5 = (8 × 5) + ( 10 × 5 )
=

9040 + 50

9) 14 × 9 = (6 × 9) + ( 8 × 9 )
=

12654 + 72

10) 9 × 12 = (9 × 9) + ( 9 × 3 )
=

10881 + 27



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 9

Risposte

Es. 56

1. 117

2. 78

3. 105

4. 52

5. 112

6. 65

7. 112

8. 90

9. 126

10. 108

Usa la proprietà distributiva per risolvere ogni problema.

Es) 4 × 14 = (4 × 9) + ( 4 × 5 )
=

5636 + 20

1) 13 × 9 = (4 × 9) + ( 9 × 9 )
=

11736 + 81

2) 6 × 13 = (6 × 8) + ( 6 × 5 )
=

7848 + 30

3) 7 × 15 = (7 × 5) + ( 7 × 10 )
=

10535 + 70

4) 13 × 4 = (3 × 4) + ( 10 × 4 )
=

5212 + 40

5) 7 × 16 = (7 × 6) + ( 7 × 10 )
=

11242 + 70

6) 13 × 5 = (6 × 5) + ( 7 × 5 )
=

6530 + 35

7) 16 × 7 = (6 × 7) + ( 10 × 7 )
=

11242 + 70

8) 18 × 5 = (8 × 5) + ( 10 × 5 )
=

9040 + 50

9) 14 × 9 = (6 × 9) + ( 8 × 9 )
=

12654 + 72

10) 9 × 12 = (9 × 9) + ( 9 × 3 )
=

10881 + 27

1-10 90 80 70 60 50 40 30 20 10 0



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 10 1-10 90 80 70 60 50 40 30 20 10 0

Risposte

Es. 68

1. 119

2. 128

3. 135

4. 56

5. 56

6. 108

7. 39

8. 112

9. 135

10. 70

Usa la proprietà distributiva per risolvere ogni problema.

Es) 17 × 4 = (8 × 4) + ( 9 × 4 )
=

6832 + 36

1) 7 × 17 = (7 × 9) + ( 7 × 8 )
=

11963 + 56

2) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

3) 9 × 15 = (9 × 9) + ( 9 × 6 )
=

13581 + 54

4) 4 × 14 = (4 × 9) + ( 4 × 5 )
=

5636 + 20

5) 4 × 14 = (4 × 6) + ( 4 × 8 )
=

5624 + 32

6) 6 × 18 = (6 × 8) + ( 6 × 10 )
=

10848 + 60

7) 13 × 3 = (3 × 3) + ( 10 × 3 )
=

399 + 30

8) 14 × 8 = (6 × 8) + ( 8 × 8 )
=

11248 + 64

9) 9 × 15 = (9 × 9) + ( 9 × 6 )
=

13581 + 54

10) 5 × 14 = (5 × 7) + ( 5 × 7 )
=

7035 + 35



Nome: SoluzioniUsa la proprietà distributiva

Matematica www.CommonCoreSheets.it 10

Risposte

Es. 68

1. 119

2. 128

3. 135

4. 56

5. 56

6. 108

7. 39

8. 112

9. 135

10. 70

Usa la proprietà distributiva per risolvere ogni problema.

Es) 17 × 4 = (8 × 4) + ( 9 × 4 )
=

6832 + 36

1) 7 × 17 = (7 × 9) + ( 7 × 8 )
=

11963 + 56

2) 16 × 8 = (9 × 8) + ( 7 × 8 )
=

12872 + 56

3) 9 × 15 = (9 × 9) + ( 9 × 6 )
=

13581 + 54

4) 4 × 14 = (4 × 9) + ( 4 × 5 )
=

5636 + 20

5) 4 × 14 = (4 × 6) + ( 4 × 8 )
=

5624 + 32

6) 6 × 18 = (6 × 8) + ( 6 × 10 )
=

10848 + 60

7) 13 × 3 = (3 × 3) + ( 10 × 3 )
=

399 + 30

8) 14 × 8 = (6 × 8) + ( 8 × 8 )
=

11248 + 64

9) 9 × 15 = (9 × 9) + ( 9 × 6 )
=

13581 + 54

10) 5 × 14 = (5 × 7) + ( 5 × 7 )
=

7035 + 35

1-10 90 80 70 60 50 40 30 20 10 0
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